Powermixer

EBIO

Service Replacement Parts

=

23

OR 1450

Crypto Peeriess Ltd., Bordesley Green Road, Bordesiey Gresn, Birmingham B89 4UA. Teiephone: 021-768 8655



EBIO
Pow

RVICE

Service Replacement Parts

EAM

v

OR 1449

Crypto Peeriess Lid., Bordesley Green Road, Bordesiey Green, Birmingham B 4UA. Telephone: 021-766 6655



EBIO

Powermixer

Service Replacement Parts

Planetary Assembly
Rem PartNo. Description Qty Rem PartNo. Description
1 4106-020-ZA Scraw, HX HD M6 x 20 1 23 50387/06 Plu Q:Y
2 BB16518 Lodulﬂw“hm 1 24 51036/04 oWl 1
3 BB27730 Driven Puliey 1 25 BB27739 Annuilus 1
4 503083/05 Circlip 42 dia 1 26 3706-035-ZA Screw Pan HD M6 x 35 6
5 S50970/05 uk\ggOOA-ZRS 1 27 BB43475 Sun Shaft 1
] BB27731 Upper Bearing Support 1 28 BB16516 Sun Gear 1
7 MREOS06/25 KeyGx6x25 1 29 B8B16520 Spacer 2
8 BB18519 Pulley Spacer 1 30 BB16529 Bearing 1
9 MRE0807/22 KeyB8x7x22 1 31 BB16529 Beanng 1
10 5310-2A M10 Nyloc Nut 1 a2 BB16518 Locking Washear 1
11 BB16521 Locking Washer 1 33 5110-WA M10 Locknut 1
12 BB168517 Planet Gear 1 And
13 BB16529 Beari 1 5210-WA M10 Dome Nut 1
14 BB33535 Lowunalmsing 1 3 BB33584 Spindle 1
15 BB168529 Bearing 1
8 BB16520 Spacer 2
} 7 MREO0S05/20 Key5x5x20 1
A 18 MDP0835 Driva Pin8x 35 1
19 3905-016-YA Screw Cap HDM5 x 16 4
20 8405 M5 Shakeproof Washer 4
21 5097004 Bearing 2RS 1
22 BB80269 Planetary Housing 1
22A BB18524 l';lmﬂor?é 1
1
228 4105-016-ZA Screw XF:SMSMG 2
and
6405 M$ Shakeproof Washer 2
Equipment

&
oS

Hem PartNo. Description Oty
1 BB33SH7 Beater 1
2  BB33598 Spiral Hook 1
3 BB33586 Whisk 1
4 BB43486 Bowi 1

Crypto Peeriess Lid., Bordesiey Green Road, Bordesley Green, Birmingham B 4UA. Telephone: 021-766 8855



